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95EAN | 8F5EAN | 78EAN | 65EAN | 55EAN | 45EAN | 35EA
(M) (M) (M) (M) (M) (M) (M) (M)
= M ™ 3,500 | 3,600,000 | 2,100,000 | 492,000 | 480,000 | 192,000 | 180,000 | 156,000
E F 3,500 | 3,600,000 | 2,100,000 | 492,000 | 480,000 | 192,000 | 180,000 | 156,000
£ = W 3,500 | 3,600,000 | 2,100,000 | 492,000 | 480,000 | 192,000 | 180,000 | 156,000
mE M 3,500 | 3,600,000 | 2,100,000 | 492,000 | 480,000 | 192,000 | 180,000 | 156,000
T+ & 3,500 | 3,600,000 | 2,100,000 | 492,000 | 480,000 | 192,000 | 180,000 | 156,000
Z- - ] 3,500 | 3,600,000 | 2,100,000 | 492,000 | 480,000 | 192,000 | 180,000 | 156,000
\m E W 3,500 | 3,600,000 | 2,100,000 | 492,000 | 480,000 | 192,000 | 180,000 | 156,000
TEFKT 3,500 | 3,600,000 | 2,100,000 | 492,000 | 480,000 | 192,000 | 180,000 | 156,000
A+ 3,500 | 3,600,000 | 2,100,000 | 492,000 | 480,000 | 192,000 | 180,000 | 156,000
F mom 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
F X W 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
B OF H 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
= 3 7 HT 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
B % 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
Z H H 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
i o # 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
B OB M 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
= B # 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
A Wi H 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
X 2 B 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
T & Hr 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
X N # 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
W 0 B 3,500 | 3,600,000 | 2,100,000 | 492,000 | 480,000 | 192,000 | 180,000 | 156,000
= = Nl Er 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
h t {k HT 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
£ Il HT 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
Mo HT 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
¥B R H 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
A & # 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
b= O | 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
N 7+ HT 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
X A W 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
= R”R # 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
2 8 H 3,500 | 3,000,000 | 1,750,000 | 410,000 | 400,000 | 160,000 | 150,000 | 130,000
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(M) (M) (%) (%) (%) (%) (M) (M)
144,000 | 60,000 8.4 1.50 0.7 1.0 150 L= I ]
144,000 | 60,000 8.4 1.50 E F
144,000 | 60,000 8.4 1.40 0.7 1.0 150 7 = W
144,000 | 60,000 8.4 1.40 0.7 1.2 150 mE M
144,000 60,000 8.4 1.50 0.7 1.0 150 T+ & ™
144,000 | 60,000 8.4 1.50 0.7 1.0 H B ™
144,000 | 60,000 8.4 1.40 0.7 1.0 \m E W
144,000 | 60,000 8.4 1.40 150 TiEFK™
144,000 | 60,000 8.4 1.40 150 A+
120,000 | 50,000 6.0 1.40 0.7 1.0 150 F MW
120,000 | 50,000 6.0 1.40 0.7 1.0 150 F X W
120,000 | 50,000 6.0 1.40 B OF H
120,000 | 50,000 6.0 1.40 0.7 1.0 = 3 7 HT
120,000 | 50,000 6.0 1.40 0.7 1.0 150 B % H
120,000 | 50,000 6.0 1.40 0.7 1.0 FHEK | B O H
120,000 | 50,000 6.0 1.40 0.7 1.0 150(3%) i o #=
120,000 | 50,000 6.0 1.40 0.7 1.0 E OB M
120,000 | 50,000 6.0 1.40 150 & L= & #
120,000 | 50,000 6.0 1.40 0.7 1.0 150 A Wy H
120,000 | 50,000 6.0 1.40 0.7 1.0 X £ H
120,000 | 50,000 6.0 1.40 0.7 1.0 T & H
120,000 | 50,000 6.0 1.40 0.7 1.0 X Il #
144,000 | 60,000 8.4 1.40 0.7 1.0 150 W 0 H
120,000 | 50,000 6.0 1.40 0.7 1.0 150 = = Nl Er
120,000 | 50,000 6.0 1.40 0.7 1.0 150 f + & B
120,000 | 50,000 6.9 1.40 0.7 1.0 150 £ I HT
120,000 | 50,000 6.7 1.40 0.7 1.0 150 Mo HT
120,000 | 50,000 6.0 1.40 0.7 1.0 150 B R H
120,000 | 50,000 8.4 1.40 0.7 1.0 A & #
120,000 | 50,000 6.0 1.40 0.7 1.0 150 OB H
120,000 | 50,000 6.0 1.40 0.7 1.0 150 m A+ BT
120,000 | 50,000 6.7 1.40 0.7 1.0 150 X A H
120,000 | 50,000 6.0 1.40 = R’ &
120,000 | 50,000 6.7 1.40 £ 8 H
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